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INTRODUCTIONS

 Physicist by training
e CouchDB developer

e BigCouch architect 7 Nl
* Founder & CTO, Cloudant @kocolosk

adam@cloudant.com
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e Draw parallels between principles of good Erlang/OTP
applications and good distributed datastores

* Dig deep into high-throughput distributed Erlang

e Share some war stories



IMMUTABILITY



SUPERVISION




DISTRIBUTION












PITFALLS

* Erlang deals with overloaded ports
by suspending the sending process

e Communications to all nodes
handled in the same server loop,
So..'

* Any overloaded / unresponsive
node can suspend all rpc
communications throughout your
cluster




* Reply directly to caller from spawned process

e Use a non-blocking send
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inet:getstat(Port).

Undocumented metrics FTW
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THANKS!




